% expd_4.m - || BUFESE
% XA G0 1 TR AL 7 AL HE [ 22255
% 1 TR 25 2 X 1R 1o st BN B 3 500 RO 2%, AR st S5 1 B 2%

function end_point_curvature_adjusted_spline

x=<[0 1 2 3]
y=[0 05 2 1.5];

S=spline_ll(x,y,0,0); % WA SECNE (HRFESD

xx = linspace(0,3,101);

yy = ppval(S,xx); % Xf7r B2 WA GRAE
plot(x,y,'o",xx,yy,"-');

text(0.9,1.5,'natural spline \rightarrow','Color','r')

e I RFE2%
function sp = spline_lI(X,Y,Dx2_1,Dx2_n)

% sp = spline_lI(X,Y,Dx2_1,Dx2_n) -- || T = R FEL&AE(H

% PR B SR, AR A R R R 2
% AN X — A SRR ARAR (AT ) )

% Y —  FEAE AT YABAR (AT ) )

% Dx2_1 - S = Sl

% Dx2_n - a0 55Ul

% W ] Dx2_1=Dx2_n=0 EJJ [ 2R FE 4%
% HitH:  sp - FEZR(RI43 B 2 15, matlab #%3X)

% 20 P93 =Z4EIE
N=length(X);
M=zeros(1,N); M(1)=Dx2_1; M(N)=Dx2_n; % M 17 5%

H=diff(X); % SRZ5H(k) = X(k+1) - X(k)
%H M4Ett x b1

G=diff(Y)./H;

S=zeros(N-1,4); %S 177 B2 WA 2%

% THE=XHAJTREALB XS LA N X AL, C o b X LR, D A i

B=zeros(N-2,1);A=zeros(N-3,1);C=zeros(N-3,1);D=zeros(N-2,1);
for i=1:N-2
ifi~=1
A(i-1)=H(i);
end
if i ~= N-2
C(i)=H(i+1);
end
B(i)=2*(H(i)+H(i+1));



D(i)=6*(G(i+1)-G(i));
end
D(1)=D(1)-H(1)*M(1);
D(N-2)=D(N-2)-H(N-1)*M(N);

% il =X M7 AR (X B AR 2 W, exp3_5.m, AT HIIE ALY%)
Al= sparse(1:N-2,1:N-2,B,N-2,N-2)...
+ sparse(2:N-2,1:N-3,A,N-2,N-2)...
+ sparse(1:N-3,2:N-2,C,N-2,N-2);
M(2:N-1) = A1\D;
% 73] X A0 925K Al P94-95 [ 1N YA 5% 2 75 0 10, IR AN =X F T AR T

% THEI B2 Wi DA 25
% 915 matlab (R¥F 3 B A E S BN T
%  Sk(x) = S(k,1)(x-X(k))"3 + S(k,2)(x-X(k))*2 + S(k,3)(x-X(k)) + S(k,4)
for k=0:N-2
S(k+1,1)=(M(k+2)-M(k+1))/(6*H(k+1));
S(k+1,2)=M(k+1)/2;
S(k+1,3)=G(k+1)-H(k+1)*(2*M(k+1)+M(k+2))/6;
S(k+1,4)=Y(k+1);

end
sp = mkpp(X,S); % B Z WALy matlab HJ4%
Yo-mmmmmmmmmmmmeee function spline_ll  END

Of HHkkokok ok ok Kok 15;E(Jﬁﬁ’ﬁ sk 3k 3k 3k 3 ok % K kK

% [55—1]

% F P102 SEEG = R (0 )R i, e (o B e s, R — R ) I S EUEE &
% x = [0 70 130 210 337 578 776 1012 1142 1462 1841];

%y=[057 78103135182214 244 256 272 275];

%

% Y [SCH6 1 (6 UR B0, A A 77 1R 27 AT BLIRCE)

% i | TFFAIIRET, 5 AR A b R SR I =5 A T FE AN —FF, LR ).

% (VX AT F matlab [ 7 (152 7 5010k A2 75 1)



